Aliiminyum’un Sanata Déndsumdi...

ARTMINYUY

Aluminum Profile Systems

PERGOLA TENTE PROFIL SISTEMLERI
PERGOLA AWNING PROFILE SYSTEM

www.kenanmetal.com



_—
y




Profile No kg/m

2337 |4,56

84,91

205

28,53 g @
——1cac]
g\f_' 25
Profile No kg/m Profile No kg/m g
2338 (1,73 o 2339 (7,827
18 130
45 45
2 < = b ‘5 =~ > N
18 18 f
2
\ () [ ’@ % LN )| Y, 755

Profile No kg/m

2342 (1,05

Profile No kg/m

2340 (3,90

110

Profile No kg/m

2341 (3,028

Profile No kg/m

2342 |1,05

285,67

Profile No kg/m

5312 |1,10

39,75

34,24




ROLLING ROOF ALUMINYUMUN PROFILLERI / ROLLING ROOF SYSTEM PROFILES :}

Oluk Profili
Gutter Profile

Product Code: 2337

Weight kg/m: 4,560
Size : 205x85x2 mm

Oluk On/Arka KapamaProfili
Gutter Front / Rear Closure Profile

Product Code: 2338

Weight kg/m: 1,730
Size : 29x165x1,6 mm




ROLLING ROOF ALUMINYUMUN PROFILLERI / ROLLING ROOF SYSTEM PROFILES :}

Ray Profili
Rail Profile

Product Code: 2339

Weight kg/m: 7,827
Size : 130x160x2,5 mm

Lamel Profili
Lamella Profiles

Product Code: 2340

Weight kg/m: 3,906
Size : 40x286x2 mm




ROLLING ROOF ALUMINYUMUN PROFILLERI / ROLLING ROOF SYSTEM PROFILES :}

Dikme Profili
Sewing Profile

Product Code: 2341

Weight kg/m: 3,028
Size : 110x120x2 mm

Dikme Kapak Profili
Sewing Cover Profile

Product Code: 2342

Weight kg/m: 1,055
Size : 45x120x1,8 mm

Motor Borusu
Moftor Pipe

Product Code: 5312

Weight kg/m: 1,100
Size : @ 75,5x1,5 mm




o ® ®
4 :
0o LLYH

®00 00 ©
@
©

Ray Takimi
Rail Set

ROLLING ROOF AKSESUARLARI / ROLLING ROOF ACCESSORIES

Product Code: Roll-01

KOLI iC TAKIM ADETLERI / PIECES IN THE BOX

)

Roll-01

Roll-01-1
Roll-01-2
Roll-01-3
Roll-01-4
Roll-01-5
Roll-01-6
Roll-01-7
PRG-79
Roll-01-9
KIS-08
Roll-01-11
Roll-01-12
Roll-01-13
Roll-01-14
Roll-01-15
Roll-01-16
Roll-01-17
Roll-01-18
Roll-01-19
Roll-01-20
Roll-01-21
Roll-01-22
Roll-01-23
Roll-01-24
Roll-01-25
Roll-01-26
Roll-01-27
Roll-21
Roll-01-29
Roll-01-30

Uriin Adi / Product Name

Arka Plastik Rulman Yatagi Sag/Sol / Rear Plastic Bearing Right/ Left

T10 triger Disli / T10 timing Gear

Triger Kayis Fren / Timing Belt Brake

6917 Celik Rulman / 6917 Steel Bearing

On Rulman Yataklama Plastigi / Front Roller Bearing Plastic

On Gergi Platik Dis Kasa Sag/Sol / Front Tension Platic Outer Case Right / Left

6007 Celik Rulman / 6007 Steel Bearing

16x16 Kare Lama M8 Digli / 16x16 Square Flat Bar M8

On Gergi Tekeri Ve Triger Baglanti Plastigi / Front Tensioner Wheel and Timing Link Plastic

75’Lik Su Gideri / 75 ‘Water Drain

Ray Arka Duvar Baglanti Aparati / Rail Rear Wall Connection Apparatus

Ray Arka (U) Baglanti Aparati / Rail Rear (U) Connection Apparatus

Arka 4. Lamel Baglati Aparati / Rear 4 Th Lamella Fixing Apparatus

On Ray Oluk Baglanti Aparati / Front Rail Groove Connection Apparatus

Ayak Alt Ust Baglanti Aparati / Foot Lower Upper Connection Apparatus

40x100 Duvar Aski Aparati / 40x100 Wall Hanger Apparatus

Ray Arka Baglanti Lamasi (M8 4 Delikli 25x100) / Rail Rear Connection Plate (M8 4 Holes 25x100)
Ray On Ve Ayak Baglanti Lamasi (M8 2 Delikli 25x20) / Rail Front and Foot Connection Plate (M8 2 Holes 25x20)
Ray On Oluk Baglanti Lamasi (M8 2 Delikli 25x25) / Rail Front Groove Connection Plate (M8 1 Hole 25x25)
M12x160 AKV Ciivata / M12x160 AKV Bolt /Box Piece: 100

M8x16 Yuvarlak Bagl Kare Vida / M8x16 Round Head Square Screw /Box Piece: 2500

M8x70 inbus Civata / M8x70 inbus Bolt /Box Piece: 200

M8x12 Bombe Bas inbus Civata / M8x12 Round Head inbus Bolt /Box Piece: 2500

M6x90 inbus Civata / M6x90 inbus Bolt /Box Piece: 100

M6x70 inbus Civata / M6x70 inbus Bolt /Box Piece: 200

M6x50 inbus Civata / M6x50 inbus Bolt /Box Piece: 200

M12 Fiberli Somun / M12 Fiber Nut /Box Piece: 300

M8 Fiberli Somun / M8 Fiber Nut /Box Piece: 1000

M6 Fiberli Somun / M6 Fiber Nut /Box Piece: 250

6,3x32 YHB Sa¢ Vidasi / 6,3x32 YHB Hair Screw /Box Piece: 300

Koli Adeti / Box

1 takim / set
1 adet / piece
1 adet / piece
2 adet / piece
1 takim / set
1 takim / set
2 adet / piece
1 adet / piece
1 takim / set
1 adet / piece
1 adet / piece
1 adet / piece
2 adet / piece
1 adet / piece
1 takim / set
1 adet / piece
2 adet / piece
3 adet / piece
2 adet / piece
2 adet / piece
2 adet / piece
2 adet / piece
20 adet / piece
2 adet / piece
2 adet / piece
1 adet / piece
2 adet / piece
6 adet / piece
5 adet / piece
8 adet / piece




(: ROLLING ROOF AKSESUARLARI / ROLLING ROOF ACCESSORIES

)

Lamel Sol Kapak Plastigi Lamel Sag Kapak Plastigi
Lamel Left Cover Plastic Lamel Right Cover Plastic
Product Code: Roll-02 Product Code: Roll-03
Box Piece: 50 set Box Piece: 50 set

Arka Lamel Sabitleme (Orta) Arka Lamel Sabitleme (Kenar)

Rear Lamel Fixing (Middle) Rear Lamel Fixing (Side)

Product Code: Roll-05 Product Code: Roll-04
On Lamel Mafsal Sag/Sol Orta Lamel Mafsal Sag/Sol Arka Lamel Mafsali Sag/Sol
Front Lamella Joint Right / Left Middle Lamella Joint Right / Left Rear Lamella Joint Right / Left
Product Code: Roll-06 Product Code: Roll-07 Product Code: Roll-08

Box Piece: 100 piece

Kicik Teker

Small Wheel

Product Code: Roll-09
Box Piece: 125 piece

Orta Ray Teker Mafsali
Middle Rail Wheel Joint
Product Code: Roll-10




d ROLLING ROOF AKSESUARLARI / ROLLING ROOF ACCESSORIES :}

Oluk Sag/Sol Kapak Aparati
Gutter Right/Left Cover Plate
Product Code: Roll-11

Motor Sabitleme Aparat
Motor Fixing Apparatus
Product Code: Prg-44

Somfy Pergola Motor Aparati
Somfy Pergola Engine Apparatus
Product Code: PRG-18

Box Pices: 50 set

T10/16 Triger Kayis
T10/16 Timing Belt
Product Code: PRG-105
1 Roll: 100 mt

1 Roll: 100 mt

Lamel Epdm Panel Contasi
Epdm Panel Gasket
Product Code: Roll-15
1Roll: 161 m / 15 kg

Ray ve Oluk Epdm Contasi
Epdm Rail Gasket

Product Code: Roll-16
1Roll: 57 m / 15 kg




(: ROLLING ROOF AKSESUARLARI / ROLLING ROOF ACCESSORIES :}

4,2x19 Top Bas Vida
4,2x19 Ball Head Screw
Product Code: Roll-17
Box Piece: 2500

Oluk yan kapak baglanti vidasi
Gultter side cover connection bolt

asi |

LYYS A
snEEE

4,8x32 Havsa Bas Vida

i 4,8x22 Countersunk Head Screw
t Product Code: Roll-18

Box Piece: 500

e

Lamel plastik baglanti vidasi
Cover plate and plastic connection screw

-

M8x40 inbus Vida
M8x40 inbus screw
‘ Product Code: Roll-19
H Box Piece: 200

Lamel Ust plastik birlestirme vidasi
Screw connecting the plastic on the cover plate

M8x65 inbus Vida
M8x65 inbus screw
Product Code: Roll-20
Box Piece: 200

g e

{
A
Lamel ile tekeri birlestirme vidasi
Screw connecting plate and wheel

M8 Fiber Somun
@» M8 Fiber Nut
Product Code: Roll-21
Box Piece: 1000

Sadece roll-19 - roll-20 numarada kullaniliyor.

I It is used only in roll-19 - roll-20 numbers.




(: RAY ON VE ARKA GERGI MONTAJ SEMASI / RAIL FRONT AND REAR TENSION INSTALLATION SCHEME :}




{: LAMEL MONTAJ SEMASI / LAMELLA ASSEMBLY DIAGRAM :}




(: OLUK MONTAJ SEMASI / GUTTER INSTALLATION SCHEME :}




d OLUK MONTAJ SEMASI / GUTTER INSTALLATION SCHEME :}







KENAN METAL

ARTMINYUY St

Aluminum Profile Systems

KENAN METAL ALUMINYUM PROFIL SAN. TiC. LTD. STi.

Merkez: Atatlrk Bulvari Mahmut Torun Plaza No:54
.E A [m] Digkapi No: 2/7 i¢ Kapi No:2 Bagaksehir / ISTANBUL

o Tel: +90 212 485 60 35 Fax: +90 212 485 60 46

=] Fabrika: Velimese Mah. Kandil Cad. 329 Sk. No:7 Ergene / Tekirdag

info@kenanmetal.com - www.kenanmetal.com

NS~ 0533 656 03 64

P

furkan/y



